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Mark schemes are prepared by the Lead Assessment Writer and considered, together with the relevant 
questions, by a panel of subject teachers.  This mark scheme includes any amendments made at the 
standardisation events which all associates participate in and is the scheme which was used by them in 
this examination.  The standardisation process ensures that the mark scheme covers the students’ 
responses to questions and that every associate understands and applies it in the same correct way.  
As preparation for standardisation each associate analyses a number of students’ scripts.  Alternative 
answers not already covered by the mark scheme are discussed and legislated for.  If, after the 
standardisation process, associates encounter unusual answers which have not been raised they are 
required to refer these to the Lead Examiner. 
 
It must be stressed that a mark scheme is a working document, in many cases further developed and 
expanded on the basis of students’ reactions to a particular paper.  Assumptions about future mark 
schemes on the basis of one year’s document should be avoided; whilst the guiding principles of 
assessment remain constant, details will change, depending on the content of a particular examination 
paper. 
 
 
Further copies of this mark scheme are available from aqa.org.uk 
 
  

Copyright information 
 
AQA retains the copyright on all its publications.  However, registered schools/colleges for AQA are permitted to copy material from this booklet for their own 
internal use, with the following important exception:  AQA cannot give permission to schools/colleges to photocopy any material that is acknowledged to a third 
party even for internal use within the centre. 
 
Copyright © 2023 AQA and its licensors.  All rights reserved. 
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Listening and Reading tests 
 
General principles of marking 
 
Non-verbal answers 
 
Follow the mark scheme as set out. 
 
Verbal answers (English or target language) 
1. The basic principle of assessment is that students should gain credit for what they know, understand 
and can do; provided their written response communicates the required message without ambiguity, it 
will get the mark.  The following guidance should be borne in mind when marking. 
 
(a)  Credit should be given for all answers which convey the key idea required intelligibly and without 

 ambiguity.  This applies whether the answer is in English or target language.  A separate assessment 
 of spelling, punctuation and grammar is not required because of the nature of the answers.  
However, these aspects are an integral part of assessing communication and marks cannot be 
awarded where errors in spelling, punctuation or grammar lead to a failure to communicate the 
required information without ambiguity. 

(b)  Where a student has given alternatives or additional information in an answer, the following criteria 
 should be applied: – if the alternative/addition does not contradict the key idea/make it ambiguous, 
 accept – if the alternative/addition contradicts the key idea or makes it ambiguous, reject. 
(c)  Where numbered lines are given within a question/section of a question, credit should be given for 
 correct answers, no matter which line they appear on. 
(d) Where a question has more than one section (eg (i) and (ii)), a candidate may include as part of the 
 answer to one section the information required to answer another section, eg, in Listening, 
 information required to answer section (ii) might be given as part of the answer to section (i).  In such 
 cases, credit should be given for having answered section (ii), provided that no incorrect answer has 
 been given for that section in the correct place on the question paper. 
 
2. In questions where students are asked to give for example a list of three items, only the first three 
items they write down should be considered for assessment purposes. 
 
3. No mark scheme can cover all possible answers.  When in doubt, look for the key idea. 
 
4. Where a student has crossed out an answer and what was underneath remains legible then it should 
be marked.  When part of an answer is crossed out, then only what remains should be considered. 
 
5. .../.. means that these are acceptable alternative answers in the mark scheme.  (.....) means that this 
information is not needed for full marks to be awarded. 
 
6. The following general principles should be applied in relation to answers in the target language: 
(a)  Incorrect personal pronouns – accept (unless this causes ambiguity). 
(b)  Incorrect possessive adjectives – accept (unless this causes ambiguity). 
(c) Wrong gender – accept (unless this causes ambiguity). 
(d) Infinitive – will normally communicate without ambiguity, so should be accepted. 
(e) Wrong tense – accept as long as student comprehension is not in question. 
(f)  Minor spelling errors – accept as long as the answer is understandable with no ambiguity.  This 

means that even if the spelling error results in the creation of a word in another language
 including English, then provided it is a recognisable attempt at a spelling in the target language, it will 
 be credited. 
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Section A Listening 
 
Comprehension questions to be answered in target language but with no AO3 marks. 
 
Where the natural answer to a question consists entirely or partly of words or phrases from the 
recording, students may use that material without rephrasing it.  Minor spelling errors which do not distort 
the meaning will be tolerated.  However, the AO1 mark will not be awarded for a response in which the 
student includes irrelevant material or inappropriate information from the stimulus, eg by ‘lifting’ an 
element from the original which does not match the phrasing of the question set. 
 

Qu Accept Mark Notes 

01 A, D, E, G, K 5 In any order 

 

Qu Accept Mark Notes 

02.1 C 1  

 

Qu Accept Mark Notes 

02.2 raijNwr isNG / PazIn ton we inrmaqa .  1 Reject: inrmaqa 

 

Qu Accept Mark Notes 

02.3 

koozI izNna cNga nhIM sI / iFlm iZ]awa nhIM c<lI / 
iPlm Plap rhI .  (1) 

iPlm wa gIq / ijs wa nA ‘l<k 28 kufI wa’ ih<t  
irha .  (1) 

2 One mark for each detail 

 

Qu Accept Mark Notes 

02.4 
ik[uMik izh ‘vevo’ qe iwKaiz]a jax vala pihla  

pNjabI gIq sI . 
1  
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Qu Accept Mark Notes 

02.5 

[uh hr iFlm bxa[ux lzI lgBg car krof rupze 
lEMwa hE .  (1)  
[uh iFlmA iv<c kNm pRapq krn lzI ikse vI inrmaqa 
we hafe nhIM k<Dwa .  (1)  

[us wI ku<l jaizwaw 170 krof rupze hox wa ]numan  
hE . (1) 

3 One mark for each detail 

 

Qu Accept Mark Notes 

02.6 

‘sAJ Pa[UMdeSn’ SurU krn krke / smaj sevk hox  

 krke . (1) 

grIb b<ic]A / bZurgA wI mww krn krke .  (1) 
2 

One mark for each detail 

 

 

Qu Accept Mark Notes 

03.1 B 1  

 

Qu Accept Mark Notes 

03.2 

malk, kaim]A ¥ ‘]apxI mrZI nal kNm qe r<K skwe 
hn .’  (1) 

malk kaim]A ¥ mnmrZI nal kNm qoM k<D skwe hn .  
(1) 

2 

Reject: in<jIkrn / in<jI 
kNpnI]A 

One mark for each detail 

 

Qu Accept Mark Notes 

03.3 ]apxI ZmIn ¥ vec ke jA gihxe r<K ke . 1  

 

Qu Accept Mark Notes 

03.4 B 1  

 

Qu Accept Mark Notes 

03.5 
[uh socwe hn ik [unHA we b<ic]A wa Biv<K ibhqr / 
iZ]awa KuShal hovega .  

1 
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Qu Accept Mark Notes 

03.6 

ivweSI kNpnI]A ¥ inveS lzI [uqSaihq kre .  (1) 

pNjab we nOjvanA lzI nOkrI]A wa kota inrWarq kre .  
(1) 

2 

 

One mark for each detail 
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Summary question 
 

Qu 04 Key idea Mark Notes 

Bullet 1 

nOjvanA ne weS wI ]aZawI wI lihr iv<c ih<sa il]a . 
(1) 
gulamI qoM pihlA nOjvan rajnIqI qoM inrlep rihNwe 
sn . (1) 

2 One mark for each detail 

Bullet 2 

pfHe ilKe nOjvanA ¥ (srkarI ]qe gEr srkarI) 
kNpnI]A we wFqrA we c<kr la[uxe pEMwe hn pr iPr vI 
ruZgar / kNm nhIM imlwa . (1) 
nOjvan puraxI / brqanvI raj ]WIn bxI is<iK]a 

pRxalI krke smeM / [uwyogA wI ZrUrq muqabk ik<iq]A 
wI isKlazI pRapq nhIM kr skwe . (1) 

2 
One mark for each detail 

 

Bullet 3 

nOjvanA  ne ivWan sBa / rajnIqk ]agU]A wI cox 
vele heT ilKe mu<iw]A ¥ iW]an iv<c r<iK]a:  

• beruZgarI  

• niS]A wI sm<is]a 

• ishq Keqr  

• ]OrqA wI sur<iK]a  

• sfkA wa inrmax  

• pRwUSx 

3 
Any three of six 

One mark for each detail 

 
The marks for content (AO1) and language (AO3) are awarded independently.  Long summaries will be 
marked for content (AO1) or language (AO3) only as far as the first natural break (usually the end of a 
sentence or main clause) between 90 and 100 words.  Short summaries are not subject to an automatic 
penalty but in practice are unlikely to include all the required content points and will therefore be  
self-penalising. 
 
The AO1 mark is awarded for content points which contain the required information, regardless of 
whether those points are expressed in the student’s own words, or are partly or wholly lifted from the 
recording.  However, no AO1 mark will be awarded for a content point where the student includes 
irrelevant material or copies inappropriately from the stimulus, eg by ‘lifting’ an element from the original 
which does not match the phrasing of the bullet point.*  ‘Lifted’ language will not be eligible for credit 
when the AO3 mark is awarded. 
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*Generic example of ‘lifted’ language: 
 
1 
Text includes  Having finished her studies, she became a doctor. 
Summary task includes the bullet point What she did before becoming a doctor 
Correct answer is  She studied 
Student writes in response to that bullet point Having finished her studies, she became a doctor 
No credit for AO1 because the response does not match the phrasing of the bullet point.  (Also no credit 
for AO3 because of lifting.) 
 
2 
Text includes … because computers will replace teachers 
Summary task includes the bullet point Technological changes anticipated 
Correct answer is Computers will replace teachers or, to demonstrate successful manipulation, Teachers 
will be replaced by computers 
Student writes in response to that bullet point because computers will replace teachers 
No credit for AO1 because the response does not match the phrasing of the bullet point.  (Also no credit 
for AO3 because of lifting). 
 
Minor errors are defined as those which do not affect communication. 
 
Serious errors are defined as those which adversely affect communication. 
 
Minor errors include: 
incorrect but close to correct spellings 
incorrect singular/plural agreement. 
 
Serious errors include: 
incorrect verb forms 
incorrect use of pronouns 
missing or incorrect agreements of gender and adjectives. 
 
Complex language includes: 
use of pronouns of all types 
tenses that support conceptual complexity 
connectives supporting a range of subordinate clauses including those requiring subjunctive 
constructions with verbs and verbs followed by infinitive with correct preposition 
use of present and past participles. 
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Mark AO3 quality of language marks in listening and reading summary tasks 

5 
The language produced is mainly accurate with only occasional minor errors.  The student 
shows a consistently secure grasp of grammar and is able to manipulate complex language 
accurately where required by the task. 

4 
The language produced is generally accurate, but there are some minor errors.  The student 
shows a generally good grasp of grammar and is often able to manipulate complex language 
accurately where required by the task. 

3 
The language produced is reasonably accurate, but there are a few serious errors.  The 
student shows a reasonable grasp of grammar and is sometimes able to manipulate complex 
language accurately where required by the task. 

2 
The language produced contains many errors.  The student shows some grasp of grammar 
and is occasionally able to manipulate complex language accurately where required by the 
task. 

1 
The language produced contains many errors of a basic nature.  The student shows little 
grasp of grammar and is rarely able to manipulate complex language accurately where 
required by the task. 

0 The student produces nothing worthy of credit. 

 
 
Indicative content 
 
Summary 1: 90 words – AO3 5/5 
 
]NgreZA wI gulamI qoM Cutkara pa[uxa ZrUrI sI izs krke nOjvanA ne ]aZawI wI lihr iv<c Bag il]a pr 
ibRitS raj qoM pihlA bhuqe nOjvan rajnIqI iv<c ih<sa nhIM lEMwe sn . nOjvanA ¥ cNgI pfHazI krn we bavjUd 
vI G<t qnKah valI nOkrI vI nhIM imlwI . pNjab we nOjvan puraxI is<iK]a nIqI krke [uwyogA wI lof 
muqabk ik<iq]A wI isKlazI pRapq nhIM kr skwe . nOjvanA ne ivWan sBa we [umIwvarA wI cox vele bekarI, 
niS]A wI sm<is]a ]qe sfkA bxa[ux vrge mu<iw]A ¥ iq]an iv<c r<iK]a . 
 
Summary 2: 90 words – AO3 4/5 
 
]NgreZA wI gulamI qoM Cuqkara pa[uxa ZrUrI sI izs krke nOjvanA ne ]aZadI wI lihr iv<c Bag il]a pr 
ibRitS raj qoM pihlA bhuqe nOjvan rajnIqI iv<c ih<sa nhIM lEMwe sn . nOjvanA ¥ cNgI pfHazI krn we bavjUw 
vI G<t qnKah valI nOkrI vI nhIM imlwI . pNjab we nOjvan puraxI is<iK]a nIqI krke [uwyogA wI lof 
muqabk ik<iq]A wI isKlazI pRapq nhIM kr skwe . nOjvanA ne ivWan sBa we [umIwvarA wI con vele bekarI, 
niS]A wI sm<is]a ]qe sfkA bxa[ux vrge mu<iw]A ¥ iq]an iv<c r<iK]a . 
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Summary 3: 88 words – AO3 3/5 
 
]NgreZA wI gulamI qoM Cutkara pa[uxa ZrUrI izs krke nOjvanA ne ]aZawI wI lihr iv<c Bag il]a pr ibRitS 
raj qoM pihlA bhuqe nOjvan rajnIqI iv<c ih<sa nhIM lEMwe . nOjvanA ¥ cNga pfHazI krn we bavjUw vI G<t 
qnKah valI nOkrI vI nhIM imlwe . pNjab we nOjvan puraxI is<iK]a nIqI krke [uwyogA wI lof muqabk 
ik<iq]A wI isKlazI pRapq nhIM kr skwI . nOjvan ne ivWan sBa we [umIwvarA wI cox vele bekarI, niS]A wI 
sm<is]a ]qe sfkA bxa[ux vrge mu<iw]A ¥ iq]an iv<c r<Kwe . 
 
Summary 4: 88 words – AO3 2/5 
 
]NgreZA wI gulamI qoM Cutkara pOxa ZrUrI izs kfke nOjvanA ne ]ZawI wI lihr vic pag lze pr ibRitS raj 
qoM pihlA bhuqe nOjvan rajnIqI iv<c ih<sa nhIM lEMde . nOjvanA no cNgI prazI kfn we bavjUd vI G<q tnKah 
valI nOkfI vI nhIM imlwe . pNjab de nOjvan pufaxI is<iK]a nItI kfke [uwyogA wI lof mutabk ik<it]A wI 
isKlazI pRapt nih kf skwI . nOjvanA ne ivdan sBa we [umIdvarA wI con vele bekafI, nSe]A wI sm<is]a 
]te srkA bnOx vfge mu<id]A ¥ iq]an vic r<Ke . 
 
Summary 5: 88 words – AO3 1/5 
 
]ZawI wI lihr vic pag lzI pr ZrUrI ]NgreZA wI gulamI qoM Cutkara pana izs kfke nOjvanA ne . Br bhuqe 
nOjvan rajnIqI iv<c ih<sa nhIM lEMde pihlA ibRitS raj qoM . G<q tnKah valI nOkfI vI nhIM imlnI nOjvanA 
no cNgI prazI bavjUd kfn we . pufaxI is<iK]a nItI pNjab de nOjvan kfke isKlazI ik<it]A wI nih skna 
kf pRapt mutabk [uwyogA we lof . iq]an vic mu<id]A ¥ r<Ke vele we [umIdvarA wI con ivdan sBa bekafI, wI 
sm<is]a nSe]A ]te bnOx srkA vfge nOjvanA ne . 
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Section B 
 
Question 5 Translation (into target language) 
 
Guidance on level of accuracy in translations into the target language 
 
Errors of spelling 
Errors of spelling will not be tolerated. 
 
Verb endings and verb forms must be correct. 
 
Alternative answers 
Alternative answers offered by the candidate – even if one is in brackets – will be rejected unless both 
answers are correct. 
 
A successful translation 
A successful translation is one which includes each element of the text to be translated and where there 
is no omission or paraphrase. 
 
Repeated errors 
Where a candidate repeats the same error within a question, no further penalty will be imposed in 
awarding the mark. 
 

Qu  

5 The table below shows the type of answer that is acceptable for each section of the text. 
Award one tick per correct section then use the conversion grid to award a total of 10 marks. 

Box  Accept Reject 

1 Many of pRwrSnkarI]A iv<coM   

2 the protestors bhuqe Qoofe 

3 were veterans sabka pNjabI POjI sn pulIs mEn 

4 who had fought  ijhfe kzI yu<WA iv<c  

5 in several wars;  lfazI lf cu>ke sn ;  

6 some were even iz<QoM q<k ik kzI]A ne  

7 wearing their medals  ]apxe qgme / mEdl vI  JNde / ib<le 

8 on their chests. 
]apxI]A CaqI]A qe pihne /  
lgaze hoze sn .     

 

9 In spite of this, the Panjabis izs we bavjUw, pNjabI]A ¥  

10 were being portrayed as srkar p<KI mIdIze v<loM   iksan p<KI mIdIze 
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11 ‘traitors’ by the government’s 
biased media. 

‘weS WrohI’ ikha ja irha sI . ‘weS pRemI’ 

12 In fact, many of ]sl iv<c, [unHA iv<coM kzI / bhuqe   

13 their sons were pNjabI]A we pu<qr  

14 deployed at  weS wI]A srh<wA / we bardrA qe   

15 the country’s border. qaiznaq sn .  

16 Finally, the government ]Nq iv<c, srkar ¥  

17 had to bow down iksanA we ]Nwoln sahmxe  iksanA we sahmxe 

18 to the farmers’ agitation Jukxa ip]a  

19 and withdraw three ]qe iksan ivroWI iqNn ka¥n iksan p<KI ka¥n 

20 anti-farmer laws. vaps lExe pze .  

21 This decision should be izs PEsle ¥  

22 recognised as an Barq we iziqhas iv<c iz<k  

23 important moment mh<qvpUrx pl vjoM mamUlI pl 

24 in India’s history. manqa iw<qI jaxI cahIwI hE .   

25 This has become quite 
evident;  izh g<l iblkul sp<St ho gzI hE ;  

26 in a democracy, the ultimate lokqNqr iv<c, ]aKrI  

27 victory lies with the people, ij<q lokA wI huNwI hE,  

28 even if they have to go and 
shout   BaveM [unHA ¥ ]apxI ]avaZ suxa[ux   

29 at the doors of the 
government 

lzI srkar we wrvaiZ]A qe ja ke  

30 to make their voice heard! hI ik[uM na cIkxa pve !  
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Conversion grid 

Number of ticks Mark 

28–30 10 

25–27 9 

22–24 8 

19–21 7 

16–18 6 

13–15 5 

10–12 4 

7–9 3 

4–6 2 

1–3 1 

0 0 
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Section C 
 
Multi-skill task Question 6 
 
Assessment objectives 1, 2 and 3 
 
Level of response marking instructions 
 
Level of response mark schemes are broken down into levels, each of which has a descriptor.  The 
descriptor for the level shows the average performance for the level.  There are marks in each level. 
 
Before you apply the mark scheme to a student’s answer read through the answer and annotate it (as 
instructed) to show the qualities that are being looked for.  You can then apply the mark scheme. 
 
Step 1 Determine a level 
 
Start at the lowest level of the mark scheme and use it as a ladder to see whether the answer 
meets the descriptor for that level.  The descriptor for the level indicates the different qualities that might 
be seen in the student’s answer for that level.  If it meets the lowest level then go to the next one and 
decide if it meets this level, and so on, until you have a match between the level descriptor and the 
answer.  With practice and familiarity you will find that for better answers you will be able to quickly skip 
through the lower levels of the mark scheme. 
 
When assigning a level you should look at the overall quality of the answer and not look to pick holes in 
small and specific parts of the answer where the student has not performed quite as well as the rest.  If 
the answer covers different aspects of different levels of the mark scheme you should use a best fit 
approach for defining the level and then use the variability of the response to help decide the mark within 
the level, ie if the response is predominantly level 3 with a small amount of level 4 material it would be 
placed in level 3 but be awarded a mark near the top of the level because of the level 4 content. 
 
Step 2 Determine a mark 
 
Once you have assigned a level you need to decide on the mark.  The descriptors on how to allocate 
marks can help with this.  The exemplar materials used during standardisation will help.  There will be an 
answer in the standardising materials which will correspond with each level of the mark scheme.  This 
answer will have been awarded a mark by the Lead Examiner.  You can compare the student’s answer 
with the example to determine if it is the same standard, better or worse than the example.  You can then 
use this to allocate a mark for the answer based on the Lead Examiner’s mark on the example. 
 
You may well need to read back through the answer as you apply the mark scheme to clarify points and 
assure yourself that the level and the mark are appropriate. 
 
Indicative content in the mark scheme is provided as a guide for examiners.  It is not intended to be 
exhaustive and you must credit other valid points.  Students do not have to cover all of the points 
mentioned in the Indicative content to reach the highest level of the mark scheme. 
 
An answer which contains nothing of relevance to the question must be awarded no marks. 
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Assessment criteria 
 
Each assessment objective should be assessed independently. 
 
Students are advised to write approximately 200 words per essay.  Everything that students write must 
be assessed; there is no word limit.  Students writing the recommended length have access to the full 
range of marks. 
 
Assessment Objective 1 
 

Mark AO1 

9–10 

Very good evaluation of the source 
The relevant information from the spoken source material has been fully understood.  
Arguments/views are very effectively summarised and there 
is extensive evidence of drawing appropriate conclusions. 

7–8 

Good evaluation of the source 
Most of the relevant information in the spoken source material has been 
clearly understood.  Arguments/views are effectively summarised and 
there is frequent evidence of drawing appropriate conclusions. 

5–6 

Reasonable evaluation of the source 
Some of the relevant information in the spoken source material has been understood.  
There is some evidence of summarising arguments/views and of drawing appropriate 
conclusions. 

3–4 

Limited evaluation of the source 
A limited amount of relevant information in the spoken source has been understood.  There 
is limited evidence of summarising arguments/views and of drawing appropriate 
conclusions. 

1–2 

Very limited evaluation of the source 
A very limited amount of the relevant information in the spoken source has been 
understood.  There is rarely evidence of summarising arguments/views and of drawing 
appropriate conclusions. 

0 The student produces nothing worthy of credit. 
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Assessment Objective 2 
 

Mark AO2 

9–10 

Very good evaluation of the source 
The relevant information from the written source material has been fully understood.  
Arguments/views are very effectively summarised and there 
is extensive evidence of drawing appropriate conclusions. 

7–8 

Good evaluation of the source 
Most of the relevant information in the written source material has been 
clearly understood.  Arguments/views are effectively summarised and 
there is frequent evidence of drawing appropriate conclusions. 

5–6 

Reasonable evaluation of the source 
Some of the relevant information in the written source material has been understood.  
There is some evidence of summarising arguments/views and of drawing appropriate 
conclusions. 

3–4 

Limited evaluation of the source 
A limited amount of relevant information in the written source has been understood.  There 
is limited evidence of summarising arguments/views and of drawing appropriate 
conclusions. 

1–2 

Very limited evaluation of the source 
A very limited amount of the relevant information in the written source has been 
understood.  There is rarely evidence of summarising arguments/views and of drawing 
appropriate conclusions. 

0 The student produces nothing worthy of credit. 
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Assessment Objective 3 
 

AO3 

9–10 

The language produced is mainly accurate with only occasional minor errors.  The student 
shows a consistently secure grasp of grammar and is able to manipulate complex language 
accurately.  The student uses a wide range of vocabulary appropriate to the context and the 
task. 

7–8 

The language produced is generally accurate, but there are some minor errors.  The student 
shows a generally good grasp of grammar and is often able to manipulate complex language 
accurately.  The student uses a good range of vocabulary appropriate to the context and the 
task. 

5–6 

The language produced is reasonably accurate, but there are a few serious errors.  The 
student shows a reasonable grasp of grammar and is sometimes able to manipulate complex 
language accurately.  The student uses a reasonable range of vocabulary appropriate to the 
context and the task. 

3–4 
The language produced contains many errors.  The student shows some grasp of grammar 
and is occasionally able to manipulate complex language accurately.  The student uses a 
limited range of vocabulary appropriate to the context and the task. 

1–2 
The language produced contains many errors of a basic nature.  The student shows little grasp 
of grammar and is rarely able to manipulate complex language accurately.  The student uses 
a very limited range of vocabulary appropriate to the context and the task. 

0 The student produces nothing worthy of credit. 

 
 
Minor errors are defined as those which do not affect communication. 
 
Serious errors are defined as those which adversely affect communication. 
 
Minor errors include: 
• incorrect but close to correct spellings 
• incorrect singular/plural agreement. 
 
Serious errors include: 
• incorrect verb forms 
• incorrect use of pronouns 
• missing or incorrect agreements of gender and adjectives. 
 
Complex language includes: 
• use of pronouns of all types 
• tenses that support conceptual complexity 
• connectives supporting a range of subordinate clauses including those requiring subjunctive 

constructions with verbs and verbs followed by infinitive with correct preposition 
• use of present and past participles. 
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Indicative content multi-skill task essay 
 
• Quick access to information (A02) 
• Helps in education (A02) 
• Way to make a social connection (A02) 
• Online-shopping (A02) 
• Career opportunities (A02) 
• Addiction (A01) 
• Displacing cultures (A01) 
• Unemployment (A01) 
• Lack of job security (A01) 
• Privacy (A01) 
 




